Al<b . B H
HYEOHESRY 23 i

| | R EZLFL LI,

® 15 + 5 = ® 56 + 7 =
@ 72 + 8 = ® 12 + 6 =
® 24 + 3 = D16 + 4 =
® 63 + 9 = ® 10 + 2 =

2 18dLDOY 2 —Z2 0 H Y £9,
2dLT 2 ay S5, a2y FiEfEz vy F 5,

=\
A
3| 48cmn ) R HY T,
becmT DIt B v, fAIRIZEY F T H,
=\
%z

@ HEI % l@j [5 @j [50%% @D &92@



QIB6 | oo

hY BEoE&EE 2EA

| | R EZLFL LI,

® I5 + 5 = 3

@ 72 + 8 = 9

® 24 + 3 = 3

® 63 ~ 9 =7

2 18dLDOY 2 —Z2 0 H Y £9,
2dLd 2 awy FIcplF 5, ay iz vy F3H,

%18+ 2 =9
% 5 g2
3| 48cmD )R> HY T,
becmT DIt B v, fAIRIZEY F T H,
X:48 + 6 = 8
£z  OA

@ HEIF B2 % ? g ? @@3?\ @ IM@





